Bohr-Rutherford Diagrams
The Bohr-Rutherford Diagrams are a combinations of the atomic theories of Neils Bohr and Ernest Rutherford.  They pictorially represent the atomic structure of the elements.   These diagrams have several steps that are required in order to complete them.  We will use the element sodium as the example element but as long as the steps are followed this will work for every elements.
Step 1: Add the number of protons electrons and neutrons into a circle to represent the nucleus.  The information can be gathered from the standard atomic notation above

Step 2: The next step is to determine the number of rings around the atoms that will represent the orbitals in which the electrons will exist at.  These also represent the energy levels that the electrons can exist at. The electrons can only exist on these orbitals because of the work of Neils Bohr which determined that electrons had fixed amounts of energy (called quanta) and could only exist at specific distances from the nucleus of an atom.  To determine the number of energy levels around an atom, you need to determine which period of the periodic table that element is situated.  In the case of sodium, we know that it is found in energy level 3.

Step 3: The next step is to fill the inner orbitals with the electrons.  The inner orbitals will be filled first as stated by the aufbau principle (look up on the internet for clarification).  To determine the number of electrons that each orbital can hold, you can look at the number of elements in each of the periods.  You will notice that the first period of the table has only two elements, which also represents the maximum number of electrons that can fit in the first orbital.  The second period has eight elements and thus the second ring can hold eight electrons and so on for all of the atomic energy levels.

Step 4: The last step is to determine the number of electrons in the outer shell (valence shell).  To do this, you need to count the number of elements in from the left that the element of interest is in that particular row.  For sodium, it is the first element in the row, so the number of valence electrons that it has is one.  If we were doing this for oxygen as a second example, it is number six in that row, and therefore it would have six valence electrons.

Ionic Bohr-Rutherford Diagrams
Atoms, with the exception of the noble gases, are not stable unless they are bonded to other elements.  To do this, many of them form ions.  The ultimate goal of the atoms is to achieve noble gas configuration, or in other words, they want to fill their outer shells.  When you complete the outer shell an atom is said to have a complete octet.  When the Bohr-Rutherford Diagram has been completed, you must ask yourself the following question.
“Is it easier for _____________ to lose ______valence electrons or gain _______ valence electrons?”
If we were to fill out the question for sodium, you would have the following.

“Is it easier for sodium to lose one valence electrons or gain seven valence electrons?”
To answer the question, we have to remember that to lose an electron or to gain an electron takes the same amount of energy.  Atoms will always choose the path of least resistance and so they will always chose the easier method.

In this case it is easier for sodium to lose the one electron to achieve its noble gas configuration than it is for it to gain seven to also achieve the noble gas configuration.  Once this question has been answered you can complete the change in the diagram as shown below.
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Notice that the diagram has been put in between square brackets and that a charge has been associated with the ion that was formed.  When wanting to determine the charge associated with an ion, you have to compare the number of protons in the nucleus to the number of electrons in the orbitals around the atoms.  If you recall, protons have a plus one charge and electrons have a minus one charge.  By determining the difference in the number of protons and electrons, you can then determine the charge on the atom.  In the case of sodium, there are eleven protons in the nucleus and ten electrons in the orbitals around the nucleus.  You can determine that there is one more proton than electrons and therefore there is a plus one charge.
Lewis Diagrams

These are very simplified diagrams that only show the outer (valance) electrons. To complete these diagrams you need to place the valence electrons around the symbol. The valance electrons are the most important as they are the only ones that can be involved in bonding or ion formation. 
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